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For this worksheet, consider the human trait of lactose tolerance, the ability to digest lactose, a 

sugar found in milk and dairy products.  If you are not lactose tolerant, and you consume dairy 

products, you experience unpleasant diarrhea, flatulence, etc.  

 

Unlike most human traits, lactose tolerance is controlled by a single gene.  This gene has 2 

alleles:  

• L (upper-case; dominant; codes for lactose tolerance)  

• l (lower-case; recessive; codes for lactose intolerance) 

 

For each of the following matings below, list the possible genotypes and phenotypes and the 

probability of an offspring being of each type.  Punnett squares will help you do this, so feel free 

to draw them in the extra space provided.  Note: probabilities should add up to 100% 

 

(1)  

Dad’s genotype = ll; Dad’s phenotype =  

Mom’s genotype = ll; Mom’s phenotype = 

 

Possible genotypes of offspring, with probabilities of each: 

 

 

Possible phenotypes of offspring, with probabilities of each: 

 

 



(2)  

Dad’s genotype = Ll; Dad’s phenotype =  

Mom’s genotype = Ll; Mom’s phenotype = 

 

 

Possible genotypes of offspring, with probabilities of each: 

 

 

Possible phenotypes of offspring, with probabilities of each: 

 

 

 

 

 

(3)  

Dad’s genotype = ll; Dad’s phenotype =  

Mom’s genotype = Ll; Mom’s phenotype = 

 

 

Possible genotypes of offspring, with probabilities of each: 

 

 

Possible phenotypes of offspring, with probabilities of each: 

 

 


